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Objective

After studying this section, vou will be able to
" Follow a five-step procedure to draw logical conclusions

Part One: Introduction

There wouldn’t be much progress in this world if all we did was
justify conclusions that someone else had already drawn. Neither
will you make much progress as a student of geometry if all you can
do is justify conclusions the textbook has already stated. Although
the following procedure may not work every time, it will be helpful
to you in drawing conclusions.

Procedure for Drawing Conclusions

1 Memorize theorems, definitions, and postulates. ’_>AS’\I

2 Look for key words and symbols in the given information. ABVE =p czuumr
3 Think of all the theorems, definitions, and postulates that

involve those keys. ASM

4 Decide which theorem, definition, or postulate allows you to S I
draw a conclusion.

5 Draw a conclusion, and give a reason to justify the conclu-
sion. Be certain that you have not used the reverse of the _

correct reason.

—
Example Given: AB bisects #CAD.

Conclusion: __? c

Thinking Process:

The key word is bisects.
The key symbols are — and 2.
The definition of bisector (of an angle) contains those keys.
An appropriate conclusion is that ZCAB = /DAB.
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Thinking Process:

The key word is bisects,

The kev symbols are — and ~.

The definition of bisector (of an angle)
contains those keys.

An appropriate conclusion is

that ZCAB = £DAB.

Example Given: EB) bisects # CAD.
Conclusion: __? C
B
A D

Statements Reasons

—
1 AB bisects £CAD. 1 Given
2 +CAB = /DAB 2 m“‘d boig L > Q%ss
Note The “If .. .” part of the reason matches the given information,
and the “then . ..” part matches the conclusion being justified. Be

sure not to reverse that order.




AMDG

NAME Ms. Kresovic
Adv Geo - 2.3: Drawing Conclusions R 19 Sep 2013
Problem 1 Given: £A is a right angle. A D
/B is a right angle.
Conclusion: __?
B C

Proof Statements Reasons

1 £A is afright angle. 1 Given

2 /B is ajright angle.| 2 Given

3 {0 Zs e ight Z5)then{thy are =,

S LAS LD

Problem 2 Given: E is the midpoint of SG.

Conclusion: _?
Proof Statements Reasons
1 E is the midpoint of SG. 1 Given
2 2 If a point is the midpoint of a
- N — segment, the point divides the
SE Z E e’ segment into two = segments.€
——”—__—

—_ o

Problem 3 Given: / PRS is a right angle. P

Conclusion: _*

R S

Proof Statements Reasons

1 £PRS is a right £. 1 Given

2 -OTZ L ;255 2 If two lines intersect to form a right 2,

they are L .

e
In sample problem 3, we could have drawn a different conclusion.
Do you know what that other conclusion is?

9S8 =0 9. LSy Q
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In problems 1 - 7, supply your own correct conclusion and reason. Write a two-column proof.

b S <A_]§ I <B—C> 2 Given: £DEF is comp. to ~HEF.
Conclusion: 7 y Conclusion: __* j
D
. @
S;ciifem:e_n’ts | Reasons Statements | Reasons
) 1—: I GJ:":”L | . LDEF comg LHEF  |LGiven
2, LABC L z ~ ompL§ = rtL
5. LDERTL 2.ComPLS =
3 Given: £1WXZ = /1 YXZ W 4 Given: (_Q_é and ﬁ trisect ZPQR.
Concl;usion ; Conclusion: 7
X 7
% Statements Reasons
Statements Reasons .
S G 1.2 & Qr s P | .Orven
| ZWYLELYXT |- Griven a. 318 = 38Ls
- 2.Q% 5D bi 2.2Rs *£LSQT %
2.XZ bis ZWXY |d:0e=L8 = DI 4 TQP
6 Given: A and R trisect CD.
5 Given: E is the midpoint of AC. D C Cojgusjo‘:;: ? -
Conclusion: __? % " A { R "
St mants Reasons
. A B AN .
Statements | Reasons ' — —_ — .
3. AE 2T 3. mdpt =y 2 segs

T Given: Diagram as shown S
Conclusion: _?
P / R
SaTEnBNTs Reasms @
" Dfoﬂ I Giren
2.LPQR stL 3 D\‘aﬁ =y stL
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In problems 8, 10, & 11, draw two different conclusions. Write a two-column proof.
Example:

9 Given: PA 1 AR P T
Conclusions: _?
A R
Statements | Reasons
1. PA L AR 1. Given
Conclusion 1 (Di 2. /PARistt £ |2.L=>1tsL
Conclusion 2 3. ZPARis 90° 3.1t £=90°

8 Given: \</\TZ) bisects VY. v . 10 Given: (C—G) bisects BD. ¢
Gonclusions: __* Conclusions: __? 8 D
W Z -
i
Statemerts ms e
1.5 bis W . Guven Statements Reasns
alv’igz_;/iy 2 bfs=>°2gs‘f]5 (.(tf; lm‘sfs 1.6’\""\
3.Z mdpt 2% t =
3. 93sgymip o BFEP 2. bis 3% sigs
3. Fmdpt BD 3. Yzup ndpt

11 Given: ZAEN = /GEN = ~GEL A

Conclusions: _? N
Staterats Qussong 2 .
I, LAENY . GEN ELGEL I Gl

J'LAQ_-I—n'sbJEI’&E(% 2. 3%4s S
3, LKEGE LNEL 3 Add






